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Part- | (01-50)

. Fill in the blank with the correct option.
The old woman who was hit by the car lost

A) conscious B) consciousment
C) consciously D) consciousness

. Choose the appropriate prepositional phrase for the given sentence.

Many people had the tragedy of the Titanic before it occurred.
A) premonitions about B) fears of
C) reports from D) believed about

. Choose the correct option to fill in the blanks.

The boy sure that no one before he crept down the hall and returned to his
bed.

A)was making / will look B) made / is looking

C) makes / looks D) made / was looking

. Choose the appropriate prepositional phrase for the given sentence.

The Cambodia are thick, dark and mysterious.
A) forests through B) forests of
C) forests into D) forests without

. Choose the correct option to fill in the blanks.

Paintings on every wall and expensive hand painted lamps the
room a warm glow.

A) hung, looking, gave B) is hanging, looking, are giving

C) hanging, looks, gives D) hanging, looking, are giving

. Fill in the blank with correct option.
The road accident victim was immediately rushed to the hospital, but unfortunately was
declared dead on

A) arriving B) arrival

Q) arrives D) arrived

. Choose the option that has all the three words spelt correctly.

A) Deflect, Difault, Defend B) Customir, Custody, Customs
C) Difer, Deflect, Default D) Cramp, Cycle, Cuticle

. Choose the option that has all the three words spelt correctly.

A) Eyelid, Expert, Nieghbour B) Drench, Draught, Dismis
C) Friend, Bloat, Witness D) Denude, Dreaery, Dropped
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9. Choose the option that best fits into the given sentence.

Customers for the calls they make for booking their tickets.
A) have not charged B) are not charging
C) have not been charging D) are not charged

10.Choose the option that best fits into the given sentence.

In earlier years, attempts to communicate with chimpanzees in sign language.
A) are made B) are being made
C) were being made D) were made

11. Fufafea 7 3 o fefex yRa @1 sifaw araeRm u1? /

Who among the following was the last Viceroy of British India?

A)Fﬁéaﬂ:ﬂ'ﬂé/ Lord Chelmsford B) ?ﬁéﬁ:{/ Lord Curzon
C) @18 33A / Lord Irwin D)@I8 ATSeded / Lord Mountbatten

12. Fufafed § 3 oH-91 R YR o1 e IwuHr & wu H i ST S g? /

Which among the following cities is also known as "Spiritual capital of India"?

A)HYRT / Mathura B) 8GR / Haridwar
C) HGRAIY / Kedarnath D) ARIUR / Varanasi

13. 7P 108 AraqRH [ &1 fFmfor  FHRar ATl /

The Gangaikonda Cholapuram Temple was built by

A)ITSIRTST 9 W9H / Raja Raja Chola | B) eich 1R WM / Pulakesin |
C) TSl Ale UYH / Rajendra Chola | D) TR / Mangalesha

14.90F I8 fora- Y STATY G XY I T T 9 82 /

How many chariots form a part of the Jagannath Puri Rath Yatra every year?

A)2 B)5
Q3 D)1

15. 4T & U 9 &F TR el HAT ST51 U &) b} e 3T St g, Hedrd gl /

Farming on a large area of land where a single cash crop is grown is known as

A)TTg HTY / intensive farming B) AIfOIfSU® HT¥ / commercial farming
C)ﬁaﬁw/ subsistence farming D) J&RIYUI ¥ / plantation farming

16. 9 - Uiy it Hfogfe R fordt TS R 1 /

The book - ‘Politics of Opportunism'’ is written by

A) 3T 9y / Amitav Gosh B) 3Rfdg sifgm / Aravind Adiga
C) T&ISIId X / Satyajit Ray D) 3R @ T kg / R P N Singh
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17.fofafed § O oF-a1 Rigid g5 @1 Rignelt 3 e gt 52 /

Which one of the following principles is NOT included in the teachings of Buddha?

A)Td / Satya B) 31uR¥g / Aparigraha
C) ST / Brahmacharya D) 34 / Astheya

18. AT ¢TIR &I Fafoiad & ¥ fry avf Wit &7 & Aied REBR UM foam mar a1z /
Rabindranath Tagore conferred the Nobel Prize in Literature in which year?
A)1913 B) 1915
Q1917 D) 1921

19.14 QUITD ST BT AFIHROT B gl /

Nationalization of 14 commercial banks took place on

A)17 37T 1992 / 17 August 1992 B) 19 SdTS 1969 / 19 July 1969
C) 12 39d 1988 / 12 April 1988 D) 26 3d¢aR 1989 / 26 October 1989
20. 717 & 0 & 2 BT IR T gof Wi a5 3R dxcll & [ 1/

The downward-sloping demand curve in the Law of Demand indicates that:

A) BH B IR, TR HH T TG DI PP a8/

At lower prices, the individual is willing to buy less commodity
B) Sl BT IR, Sl Mfeeh o Tie &l 353 Bl g /

At higher prices, the individual is willing to buy more commodity
C) Sl BIH R, Tl T8t ag Tla Bl ggb Bl 8 /

At higher prices, the individual is willing to buy the same commodity
D)% PIAd R e 31w I Wile & Igd gl g /

At lower prices, the individual is willing to buy more commodity

21.12 ISTg <, 3ot 981 AT I oy H IR A1 91 ¢ | H S Y, AT I SR gn ar
IGD! IH Tt grf? / 12-year-old Sham is four times as old as his sister Shamita. How
old will Sham be when he is twice as old as Shamita?

A)16 T / 16 years B) 18 A¥ / 18 years
@) 1998/ 19 years D) 20 ¥/ 20 years

22,39 ec BT T BT ol 30 J T Bl

i1, U, YR, drge/

Choose the word which is different from the rest.
Kiwi, Penguin, Ostrich, Kite

A)PTSC / Kite B) RH1 / Ostrich
O UTE / Penguin D)@Idl / Kiwi
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23.%[eq B 3 IR AT DY o A 3IhH U 81 b |
A. fofa B. 3ot ¢. gfer p. =manefter £, ARTARY F. S /

Arrange the words to form a meaningful sequence.
A. Judgment B. Robbery C. Police D. Judge E. Arrest F. Prison

A) ABCDEF B) BCEDAF
C) BCDEFA D) BCEDFA

24,7 PIS TS ST 2:20 o fexa I8t 8 3R 20 fire 9l 8, o 3¢ o a1 |El guy &

8ITIT? / If a watch shows 2:20 p.m. and it is 20 mins slow, after one and a half hours
what will be the CORRECT time?

A)3:55 WM& /3 :55 p.m. B)4:00 WM& / 4:00 p.m.
C)4:05 W& /4 :05 p.m. D)4:10 WAz /4:10 p.m.

25 fgfefad siaR va & SFTAT T 3T <few? /

What should come next in the following letter sequence?

ABC ACD ADE AEF
A) AFG B) AGH
C) AHI D) Al

26.7f¢ diex, B & a1 &1 gavala G § ot UieR SR B & ofg 1 e g2 /

If Peter is the only son of the father of Mary, what is the relation between Peter
and Mary?

A) HTE-§84 / Siblings

B) HI-YA / Mother-Son

@) ﬁ?ﬂ—g}ﬁ/ Father-Daughter
D)®Is &Y 7al § / Not Related

27.7f¢ 3MT 1 ¥ 100 Tb I+ LAY forad & o 37 4 &Y fpamit IR ford™e /

If you write down all the numbers from 1 to 100, then, how many times do you write 4?

A)19 B) 20
Q)18 D) 21

28.T(&al B Th UIdh ohH S & oY Fafyd |
&ail: A. BIEHT B. HHT C. I D. TR E. GebTT /
Arrange the words to form a meaningful sequence.
Vegetable: A. Chop B. Wash C. Select D. Serve E. Cook

A)CBAED B)ABCDE
CQCABED D)CBADE
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29.3Y sg BT T HIToY ol 39 J fHT g
gdleT, dTaR, Uaed, B /

Choose the word which is different from the rest.
Hammer, Sword, Screwdriver, Chisel

A)BUIST / Hammer B) AEAR / Sword
C)ﬁﬂﬂ / Screwdriver D)@:ﬁ/ Chisel

30. 3 % & 3¢ 3R TH 91 § Forah 1 37alt, Sfapia 3R TR g | SH1=0 i et 4 9 g8 ¢
iT &1 U 9T AR § | 3 &1 Ufd 9815 ¢ | T8TgR & a9 wr Rxarg? /
Anu has two sons and one daughter namely Abi, Akil and Asha. Asha is married to Bhim.
Bhim has a son Gulshan. Anu's husband is Bahadur. How is Bahadur related to Bhim?

A)ll'l'sc/ Brother B) HIdT / Brother in law
C)ﬁl—cﬂ / Father D)9YR / Father in law

31.7f¢ GF, "KJ" A Tefdd § df 33 UHR OP J G&RIa g1/

If GF is related to "KJ” in the same way OP is related to

A)UV B) RS
QST D) QR
32. 999 UG IR & 1Y 3 Bl URT|

BT BRI :: m :?/
Fill in the sequence with the most appropriate answer.
Carbon: Diamond :: Wood : ?

A) S Sp| / Dustbin B) @W/ Stapler
C) PN / Paper D) dH / Pen

33.3(sal DI ST qUIigeha & Fafyd ol /
Arrange the words in alphabetical order.
(1) Pair (2) Hair (3) Dare (4) Care

A) Pair, Hair, Dare, Care B) Care, Dare, Hair, Pair
C) Hair, Dare, Care, Pair D) Dare, Care, Pair, Hair

34.T% BTd R 160 ¥UY 3ifard g 3R IV 136 UL T o T, Fe Ufa=rd o1 u1? /

An umbrella is marked Rs. 160 and sold for Rs. 136, what was the discount percent?

A)20% B) 25%
O 12% D) 15%

35, 3TCRT GI&UT BT 3R 5 foll TercT 8| 98 I1% 3R Gl & IR 3 fhe gaar g, R ag o
3R g3 8 3R 5 frtft T 81 319 98 s W A fora lRzm # g7 /
Adarsh walks 5 km toward South. He turns left and walks for 3 km, he then turns right
and walks for 5 km. Now, in which direction is he from the starting place?
A)3TR / North B) Jd / East
C) &fér / South D) &f&U1-4d / South-East
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36.9Y 2020 P! TS SHIG! (SR ¥ S) & SR T B -1 Bt 3Td ATy Wud 1.2
foraiom ufa Are ot R 2020 H FADT A B Sigad TR Wud 1.5 farm ufa A
| I 2020 B GURT THG! (S[ATS ¥ GHER) & SR 3514 fava-l I BT STHNT far? /

Gupta's average monthly consumption of sugar was 1.2 kg during first half of year 2020
(January to June). His average monthly consumption of sugar was 1.5 kg per month for
entire 2020. How much sugar did he consume during second half of year 2020 (July to
Dec)?

A)10.8 f&dl / 108 kg B)11.8 fabell / 11.8 kg

Q)6 fodl /6 kg D) 12 fahell / 12 kg

37.9f¢ 16 37RA &I YHAR g, af 22 3RA Bl DHIH-A1 & 82 /

If 16™ of August is Friday, then, what day is it on the 22™ of August?

A) TR / Monday B) 7T¥dIX / Thursday
C)XAAR / Saturday D)XfddR / Sunday

38.8d ?ﬁﬁl'q:/Solve:
(12x4)+12+6

A)T72 B) 50
C)60 D)36

39, YRd B} 3TSTE} B! IRIG &7 82 / What is the date of India's Independence?

A) 26 SIERY / 26 January B) 2 3/d¢sR / 2™ October
C) 15 31X / 15™ August D) 14 FdsR / 14" November

40. frafaRad Sae & g S= I1d Hifore | /

Find the missing number in the following series.
1,5,3,10,5, 15, 7, 20, 11,

A)30 B) 13
Q)25 D) 24

41.T% 9 W U dsfdhat wiet Rigam & forg ot €1 yfa, $fa & art $ik ok faeg & arft
3R 21 R, fa & erfl ik 31 orfiar, B SRR F T AR B & R s fa A i
87/ Five girls are sitting on a bench to be photographed. Shruti is left of Kruti and to the
right of Bindu. Ritu is to the right of Kruti. Anita is between Kruti and Ritu. Who is in the
middle of photograph?

A)fa=g / Bindu B) 4fdl / Shruti
QR / Ritu D)Bid / Kruti
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42. ) BET BT 3d aor 30 fhaium § 3R afe 30 frarm oo arer J R 8 9% I1y
A 1 ST 8, Y 31 o1 BT T 3Nd aoi- T 87 /

The average weight of two students is 30 kgs and if third student with the weight of 30
kgs joins them, then, what is the average weight of the three students?

A)20 kg B) 30 kg

)40 kg D) 55 kg

43. 7R 1S Ugd, IR S8 &1 Sf1ed 3 20 A1 adHH H ITab1 3d I R 87 /
The average age of four sisters four years ago was 20. What is their average age today?
A)27 B) 30
C)24 D) 36

44,98 TAT I SN 4@ b Ue BT SFIAR0 xal &l /
Choose the number that will match the pattern of the series.
8, 48,16, 96, 32, ?

A) 192 B) 150
C) 64 D) 288

45 fafafad saen | oS- J1d Do) /

Find the missing number in the following series.
4, 6,12, 14, 28, 30,

A) 56 B) 60
Q)62 D) 32

46.91¢ 'A' T AIAS fAUTSH 8, 'B' BT HdAd UM §, 'C’ &1 Aqd SIS § 3R 'D' & Aqad
geTd § d6:1200D(4C18)B30A3 = ? /
If ‘A" means division, ‘B means multiplication, ‘C' means addition and ‘D’ means
subtraction then 1200D(4C18)B30A3 = ?

A) 188 B) 1020
C)1200 D) 980
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47.13T U 3 il O F faw® gMTI / Find the ODD one out from the given figures.

(a) (b) (c) (d)
A . B)

(a) (b)

(c) (d)

48,7137 10, 20, 30, 40 HT 3T B: / The average of numbers 10, 20, 30, 40 is:

A)25 B) 10
Q15 D) 30

49, AR 44 B 3R 1 foret Treran 7 SR fhR I8 SR &1 iR g1 § iR 4 foret e g1 iR
T 98 Id B! 3R G318 3R 3 {5t garar g1 fhR a8 IR o 3iR gear g 3R 7 fardt areran
21 98 M foig ¥ frat A W g2 /

Ramesh walks 1 km to the East and then he turns to the South and walks 4 km. Again,

he turns East and walks 3 km. He then turns to the North and walks 7 km. How far is he
from the starting point?

A2 f&BH /2 km B) 5 fhHT / 5 km

Q)4 fpHt /4 km D)3 fpHt / 3 km
50. Fufafed # 9 fauw &1 31d S

T, 3mad, JHidR Igde, Ay /

Find the ODD one out from the following.
Square, Rectangle, Parallelogram, Triangle

A)Wﬂﬂﬁﬁ/ Parallelogram B)an/ Square
C) 3TId / Rectangle D) AYS / Triangle
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Part- 1l (51-150)

51.Udh IUHRYI off T Sl & faggd SHoit # uikafdd &rar g 39 & U § ST Sl
81/ A device that converts Mechanical Energy to Electrical Energy is known as :
A) Are / motor B) m / transformer
(@) |§Q<’RQ / reactor D)GI:QE? / generator

52. TSN SIFRNT B IR WR [ UHR & feer-eR &1 SUANT il STl 52 /

Which type of alternator is commonly used in automotive applications?

A) R g sfeeer / Synchronous alternator

B) S8ARM 3{ee-eX / Induction alternator

O EQTT%H G{W/ Brushless alternator

D) W-Q@%ﬁ 3T / Series-wound alternator

53, RiP-WIeS 1 H1H Aed Y &1 11 Jargy Iy ST fg=01 09d & $iaR ¥ &1
%%’Qmﬁfﬁﬂ%l / Name a zinc-plated or chrome metal rail that is used for mounting
the control accessories like MCB, contactor and OLR without using screws inside the

control panel.

A) I / Race ways B) S13META ¥d / DIN rail
C) ef¥9d Fdex / Terminal connector D) WHSH / Grommets

54, Ffdhe SR § o0 Fisd &1 o1 &1 g7 /
What is the function of the trip coil in a circuit breaker?
A) dleed B fAfFafid &A1/ To regulate the voltage
B) @@f@[a?ﬂ:ﬂ / To protect against ground faults
C) sliaRape U & ERM widhe &I @ierHT /
To open the circuit during overcurrent conditions
D) 3fiaRepe UGN & SR Ffdbe Bl dg T/

To close the circuit during overcurrent conditions

55. T faggd arafiT SereizE & fo {6y TR &t arafi & gare < St 82 /
Which type of wiring is recommended only for temporary installations?
A) File IR / Cleat wiring
B) WWW/ PVC conduit wiring
C) Uit HRT 3R HfthT arafer / pve casing and capping wiring
D)NE‘&CW&"T/ Concealed wiring
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56.faggd Afthe  MSS Wiee Flhe FeIPR GBI BT I FT18? /
What is the purpose of a Ground Fault Circuit Interrupter (GFCI) in electrical circuits?
A) forsteft &1 @ua aaﬁ & W / To increase power consumption
B) forotelt & e W s & fe@ / To protect against electrical shock
C) diees &1 fafafid &= & T / To regulate voltage
D)ﬁﬂ\'ﬂﬁ R B HH B & o1 / To reduce electrical noise

57.Fafafed &  o19-w1 fagga o1 & fo safaaa gRem SuswsRor (difis) o1 Iemer A8t 82/

Which of the following is NOT an example of personal protective equipment (PPE) for
electrical work?

A) gR&T <RHAT / Safety goggles B) TS 8¢ / Hard hat

C)IsR & T / Rubber gloves D)ol U dTdd S / Open-toed shoes
58."gT8 dlccol” &I AAHITHS g &1 82 / What is the universal sign for "High Voltage"?

A) B)

&
> )

59. TARIe o H o5 I &1 IUAIT {1 Srar 82 / Which gas is used in fluorescent lamps?

A)Eb"ﬁf:[ S'I—&FS‘ITWT?S/ Carbon Dioxide B) 3o / Oxygen
Q) GI'ITTTT/ Argon D)313|Trh=[/ Ozone

60.98 T S Th SHTARUT IR THT 1 ATIER WRal P 3iaR YA B Bl AT Tt ol &
IR P A § o, 3, &R SR ST B1 foha & fauwRid &l il &, S el ol &: /
The material that will not allow the ingress of moisture to enter inside the winding layers

by forming a cover and in many cases, works against the action of oils, acids, alkalies and
heat is known as:

A) I / Grease B) @IS / Paper
C)%UN / Cotton D) aTfA=T / Varnish
61. TRIST BRI 3MYfef & Iy SR CIEW,
The fuse is always connected in with the supply.
A) JHMIR / parallel B) QUﬁ/ series
Q) TT / shunt D)WW@[/ mechanically
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62.98 Ui [y UTaR Saae oy Ul BT g2 /

This symbol is of which power electronics device?

O MTY
Yy > 6
I \".
_AY |
NG
T2
A) SI3ETH / DIAC B) FIR3MST™ / TRIAC
ostad/BIT D) HIg%E / MOSFET

63. 3T gRT IATd 3M3eYe dleed B gy g R Ak et g/

The frequency of the output voltage produced by an alternator depends on the:

A)eR BT 11T / Rotor speed
B) LR UET?f/ Stator material
C) dieedl e / Voltage setting

D) TR A OII'-:;I(E*I CARE) / Number of windings in the armature

64. T IATGT I ol faoiel! UaT B & o 3= TR W ot o1 fRUTAS SHoif b1 ITTHT St

8dET /A generating station that utilizes the potential energy of water at a high level
for generating electricity is:

A) \_rlﬁﬁ?{{lﬂ fed 47 / Hydro-electric power plant
B) T4 faggd TTF / Thermal power plant

C) TRHTY] 351l T / Nuclear power plant

D) SaR1Y fdggd ¥4 / Tidal power plant

65. AT-YHR & SRABTIHR H, Uit iR fgdias afew o auel S g: /

In shell-type transformers, primary and secondary windings are wound in:

A) PR & TP g WS/3T H / The same section/limb of the core

B) ®R & fAfHa We/3MT H / The different sections/limbs of the core

C) PR P Ugd 3R GTR WS/ H / The first and second sections/limbs of the core
D)H’ﬂ?%q@ﬁ sﬁ??ﬂﬂ%@@/&mﬁ / The first and third sections/limbs of the core

66. T HIdl A T I Sl BT A9 Farsy fTTe! gfed STHNT &t g1 & s X R gl
81/ Name the energy derived from natural sources that are replenished at a higher rate
than they are consumed.

A)YHA / Thermal B) ¥R / Solar
C) UMY / Atomic D)TN / Gas

67.‘@?&!‘-211?1’@3?&& &7 BT B: / The speed of the rotating magnetic field is:

A)WW Tfd / Synchronous speed B) fRerg Tfer / Slip speed
C)ﬁET Tfa / Rotor speed D)@G’ Tfa / Rated speed
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68. SRft 7=fiF B ®1F-91 g 3R e &) 918 gfdhe A Ssarg? /

In a DC machine, what component connects the armature winding to the external circuit?

AR / Stator B) 3IcR / Rotor
C)TI® / Yoke D)%-UWEITWH/ Commutator

69. 7 faT 77U 31U IUHRUI/3MWIR &1 IuANT 9 & fore fovar Srar : /

The below hand tool is used for:

—
e T
A=)

A)WWW/Wooden work B) UTJ T HwTH / Metal work
C)Qﬂ'c' YTd bl HTH / Sheet metal work D) ®WIgd / Files

70.39 BT IUBRU)/SNWR Bl 39 18 A SIHT SIdT 7: / This hand tool is known as:

7 Y —
TS >

A) 9TSE BT WRR / Side cutting plier B) Td A1l WIR / Round nose plier
C) S| (R1Heie) / Gimlet D) e (fU¥R) / Pincer

71. 0 Fef § TRIBTER &1 e &1 |82 /

What is the main function of a transformer in a control panel?

A) Folf e’ AT/ To store energy

B) 3fifSal Fahall &1 Hafdd =T/ To amplify audio signals
C) dIUHT CANEDIEGKC TG / To regulate temperature

D) dlecdl WR d&aT1 / To change voltage levels

72. Ryt G Hiex & Tuis $& Y1 iare? /

In a permanent capacitor motor, how a capacitor is connected?

A) IR 1SS o |1y 90 § / In series with the starting winding

B) URTNeb QISFET & A1 THMIR H / In parallel with the starting winding
@) HIFLHE%‘T & 1Y AR T / In series with the running winding

D) TTe ATSfET SR IR argfen & ary ot 7 /

In series with the running winding and starting winding
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73191l & b W IUBRUI Hi YRl o oY FufeRad # 9 food IuHRU1 o1 IUART fobam Sird

87 / Which one of the following devices is used for the protection of equipment from
lightning strokes?

A/ CT B) Uit/ PT

C) TR ST / Wave trap D) farsteft [1ee / Lightning arrestor

74.TIRU1 A1 B! Ygd TeH B & oy, [IaRor TRIBrR &1 ddhe] ST g3 gl /
So as to provide neutral to the distribution line, the secondary of the distribution
transformer is connected.

A)ER / star B) STl / delta
Q) oS / zig zag D) TRf® ¥4 4 / randomly

75. AEfET & U i UR & dR &1 SuaNT far Srar g2 /

Which type of wire is used for winding?

A) UidIet did &1 ar / PVC copper wire

B) Il?rf’[@;c; die &1 dR / Multi strand copper wire

O A PR dd ST AR / Single core copper wire

D)guR A did &1 dR / Super enamelled copper wire

76.T% 3T oY T YT fhdd gRT IfoId 8T 8: / In an arc lamp, light is emitted by:

A) fFame / Filament B) 99H / Vacuum
C) 8IS / Halogen D) faggd 19 (311%) / Electric arc

77. IR ST H WRET e & 0 § fFafafad o ¥ g Suan fear S g? /

Which one of the following is used as a safety accessory in wiring installation?

A)TIST / Fuse B) W / Lamp
C) 8IS / Holder D) &4 / switch

78.UHd-TR0T IRT Hiex H fafafad § ¥ &H-8 UhR &1 gaa g &85 309 81 87 /
Which one of the following types of magnetic fields is generated in a single-phase
induction motor?

A)‘ZI;UT:T / Rotating B) fRR / Static
C)Wifdd / Pulsating D)4 / Ring

79. 39 UISH HaR &1 19 I13U Sff dT9 faggd Wl Y SHull & difAids SHuil § uikafad
FRAT 8| / Name the prime mover that converts Steam Energy into Mechanical Energy
in thermal power plants.

A) $$ Sl 29} / Economizer B) EIVTEIFR/ Boiler
(@) aais:l / Turbine D)a:[W/ Pen stock
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80.PN SIaR SRS § 91q P-U1Z S Ulfvifed ¥ &1 BIdT § 1R N-WISE DC WS & =ilfed
< A JeT B 8 il sris R A g g /

In a PN junction diode when P-side is connected to the positive and the N-side is
connected to the negative terminal of a DC supply then the diode is in:

A) HRIs a9 fufd / Forward bias condition
B) o sy fRufa / Reverse bias condition
C)hc 3B 833[/ Cut off region

D) fohd &7 / Active region

81.DC HxfF T, T 3MSTYC deesl ST B P o Hi-F arsfe Irard 82 /

In a DC machine, which winding is responsible for generating the main output voltage?

A) Waﬁ%ﬂ / Armature winding B) uﬂ@;aﬁ%ﬁ / Field winding
C)WET a'lg'%"'[ / Commutator winding D) TR ?JI'IE'%"T / Stator winding

82. - 3fceer A Wer R fhat arsfen gidt 82 /

In a three-phase alternator, how many windings are there on the stator?

A)Td / One B) &l / Two
Q)T / Three D)IR / Four

83.31 1 3l Y 31fies grTal Pt AEfeT H U IR ¥ faggdia Judh g1 W 3T g g/

If a winding of two or more turns contact each other electrically, it will cause:

A) WW/ Open Circuit B) YA ShSI3T / Thermal Breakdown
C) TIMe Ffde / Short Circuit D) HUTS §HSI3T / Cathode Breakdown

84. 7% Udfie &1 g HIOITI / Identify the symbol.

—{ >

A)AND 7€ / AND Gate B) OR 7I€ / OR Gate
C)NOT 7Ic / NOT Gate D)NOR 7@ / NOR Gate

85. foTelt ¥ ST @ & RUfd &, 3 gIH & AT U] fhaer IUaT A8t H=-1 a1ge? /

In the event of an electrical fire, what should you NOT use to extinguish it?

A)tI'IT-ﬁ/ Water B) &Iﬁfm/ Fire blanket
C) 31U / Fire extinguisher D)¥d / Sand

86. 311ee & 1A e 1Y fosTelt T4 o fo fohd TR o I SIeR &I SUANT foed ST
87 / For central steam power plant of large capacity, which kind of tube boilers is used?

A)dd / Oil B) HTJ / Steam
C) Ul / Water D)dR] / Air
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87. e Yuelt H YR TG did & IR &1 MR, Fufeiea § § fead fearsmar g2 /

In metric system, the size of super enamelled copper wire is given by which of the
following?

A)Wﬁlﬁﬁ/ Diameter in mm
B) TSl T&AT ¥ / Gauge in numbers

@) AR UROT (amgga%ﬂ) %;lﬂf[/ Wire inductance in henry
D)dR IR (@RR §8&d) / Wire inductance

88. 7% Afdhe o1 TTAT 8?2 / What does this circuit represent?

L4

| —

|
=
/
53
oW OILRELAY 'O y H
Ly Sa | ‘
P, P S N
| — 1 [ al N4 o5 o6 r.U:
FLSE OFF

240V NOVOLT CoIL

A) ?ﬁﬁhﬂﬁ TR BT UTR Fidhe / Power Circuit of DOL starter

B) 3ffel mﬁT TR BT R ?Iﬁ?c'/ Power Circuit of Auto Transformer starter

C) S3NTH WIR T FATz0 Ffdhe / Control Circuit of DOL starter

D) 3t Q'HTI'TITTT TR B Tz Ffhe / Control Circuit of Auto Transformer starter

89.fdhe & AIUHM 3G & SMYR WR oy UHR o1 Afdhe SH: aTad aidl 82 /

Which type of circuit breaker operates based on the temperature rise in the circuit?

A) GBI Fidhe SR / Magnetic circuit breaker
B) ﬂﬁﬁﬂﬁﬁ'ﬁﬁ/ Thermal circuit breaker

@) &WWW/ Oil circuit breaker
D)WWW/Vacuum circuit breaker

90. <f19-TS IRUT AR & YU Bt =M DI HY Jeel HR dhd 67 /

How to reverse the direction of rotation of a three-phase induction motor?

A) TR arRfET ®I 39 H deads / Interchanging the armature winding

B) WIS dTSfetl & 31Uy H daadhy / Interchanging the field winding

C) AR <fHfal BT MUY H geads / Interchanging the rotor terminals
D)Eﬁ‘ﬁ?ﬁﬂ?ﬁﬁ@fwwaﬁ MUY H Seade / Interchange any of the two terminals

Page 16 of 33




91.faggdia om1 & o fry UeR &1 if¥Rmie IF Iuged 82 /
Which type of fire extinguisher is suitable for electrical fires?
A) B RIS / Foam extinguisher
B) TiTalT XNITAfah SITARMHS / Wet chemical extinguisher

@) WS‘I’&’H@E@ G{ﬁ;l'-‘ﬂm/ Carbon dioxide extinguisher
D) Sl RIS / Water extinguisher

92.U% WY 37 TABIR H, Uryfiies argfEn & grmel ot G gidt g /
In step up transformer, number of turns in primary winding is:
A) fedioes arfeén & gamal ot wem w4 /
Less than number of turns in secondary winding

B) fgcitaes arSfe™ o gHTdal o1 TAT & sRISR / Equal to the number of turns in secondary
winding

¢ fecitaes arfEn o gumel &t T ¥ 3ifdw /
More than number of turns in secondary winding

D) feiiaes argfe™ # gHTal 1 e J W= /

Independent of the number of turns in secondary winding

93.gfa¥d diex § ¢U Wics fafd &1 IuaiT fear S g: /
The tapped field method in the universal motor is used to:
A) YURT CARERIPG R f%m / Control the current
B) TTfdl TR =101 7@ & W / Control the speed
O ECANEBIERCRCED 1%1? / Control the torque
D)Eﬂ% R 870 @1 & ﬁ“ﬂl / Control the power

94. D! AR Wfthe WR faggd B Ha ST A1 /

When should you perform electrical work on live circuits?

A) R, TP Al 3a 3rudt § Y T8 Wi R /
Always, as it is safe if you are experienced
B) hadl ST SHTAID B UR 3R I e sRa= & a8 ot /
Only when absolutely necessary and after taking proper precautions
C)o§ +ft Mg =Tg / Any time when you want
D)ﬁTrﬁ Caukd aTI:I / During personal work

95. 3 dlecdl & forg Terur H, 1 & 9 for TR & SRIciex &1 IUANT {361 ST g2 /

In transmission for higher voltages, which of the following insulator types is used?

AU/ Pin B) ®Id / Glass
C) T / Suspension D) ¥ / Strain
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96. FEfiRad & ¥ SH-11 3 gfaa wige 82/

Which one of the following is a Western Union Joint?

A) B)

T "'“"I’TTT‘T“"TTTTT"""'TTTT“"’"TTTTWH
|:‘., M= IIII|II| [ f I II|II III [ I f ! II| [ if Il |'I|'I iff Il II| | 'I—Tj.-.r,"; ,

I
I's

D)
} Y Y Y T Y YT
I:'f | II| .'I II.(_?’I -::_‘::—___ — |'I II| .'I .'I I8
- LA A t LAA A

97. 9ARE (A1h) BT IYANT fhaT SIIdT & / Ballast (Choke) is used to:
A) 3MTYfe dleesT 96 8d / Step up supply voltage

B) {-IL('1I$r BHC @Ic;}l-q %@/ Step up supply current
Q) HT{%@I@FT DI HH B %@ / Step down supply voltage
D) TWITS HRC Bl HH HRA o / Step down supply current

98.frafoRad & ¥ HH-91 <fH-Trel IRUT AR B A Rid de@ 1 &89 &1 TSR g7 /
Which one of the following is the type of magnetic field developed in a three-phase
induction motor?

A) 9f0fd 9e@1 &3 / Rotating magnetic field
B) TWfdd a1 &3 / Pulsating magnetic field

C) Rfq® P & / Static magnetic field
D) 3{qifesd 9a® 1T &4 / Stray magnetic field

99. 3t TaT8 (I TRefer) Bt S| SIS B 81/ The SI unit of luminous flux is

A)TIH / lumen B) =S dT / candela
C) 3IHARM / illuminance D)$¢RACT / intensity
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100.39 TTaR DT STANT (4 & forw foar SITaT §: / This tower is used for:

41 6m

A) RiTra e E\N’&I’Q"Ff o184 / Single Circuit Transmission Line
B) RivTal & E\Nﬁ-ﬁlﬁ ¢lg / Single Phase Transmission Line

C) TIAISHt / HVDC

D)gdd gfche Q'Hﬁ-l‘ﬂ:[ Alg / Double Circuit Transmission Line

101.BJT & o9 efif9a 81d §: / Three terminals of a BJT are:
A) TGI8 D, YR, W/Collector, Base, Emitter
B) 1, |Id, T / Drain, Source, Gate

Q) Q-'-i S, %‘Lﬁ%’, ﬁ?/ Anode, Cathode, Gate
D) IHIMY, 3MMYUR, TIc / Common, Base, Gate

102. SRF 7= 7 3R R & fw 3mdR R Fufeiad & ¥ &19-3 e &1 Iua fasar

SITdT 82 / Which of the following materials is commonly used for the armature core in
DC machines?

A)dTaT / Copper B) SXUT / Steel
C) SGHIIH / Aluminium D)Wdd / Brass

103. 3¢ foreht arEfEn & Fea/ua/ el &1 WA TH 8, Ol I ATSfeT &I Hgl A & /
If in any winding the number of coil/pole/phases is one, then the winding is known as:
A) SR dISfET / Basket Winding
B) Tdbfad dTSf&T / Concentric Winding

0) f&xdisgcs argfé / Distributed Winding
D) I+ ATRSTT / Skein Winding
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104. TAGRR Y¢S dieest ¥ ST 8iaT & al Y & ¥ frdes HRur o @fti) eaf Iaa &=ar

%? / The transformer is connected to the rated voltage which produces humming
noise, is due to which of the following?

A) ®R BT 3T RIHT / Improper stacking of core
B) ®R &I &Y / Vibration of core

Q) 3P HR (mﬁﬁ'l) / Overloading

D) PR g 3if¥es B & HRUT/ Core loss is more

105. faggd afkul & wriie &1 Urufiie SExa a1 g2 /

What is the primary purpose of an MCB in electrical circuits?

A) G{Qfa'q@ﬂ?&ﬂ/ Protection against earth faults

B) 3flaRdlecsl @IER&H/ Protection against overvoltage
C)Q]ﬁ?ﬁv_d@[ﬁ?&ﬂ/ Protection against short circuits
D)\?rITEFﬂWUTﬁ{-R&H/ Protection against ionization

106. fdt Fcit &b Tl fHARI & g & aid SMHER Wi TT HER Heder & w0 J AT 5
@ﬁmﬁﬂ?ﬂ% / The distance measured in terms of armature slots or armature
conductors between the centre of the two sides of a coil is called:

A)thﬁﬁ?[/ Pole pitch B) ﬁ'&}ﬂ@?/ Coil span
C) 8% fO=r / Back pitch D) Tfehd U& / Active sides

107.Td & UG # frd UPR B Thd-TRUT 0T AIe T IJUTNT fbaT S 82 /

Which type of single-phase induction motor is used in ceiling fans?

A) RITIt GYTE AIeX / Permanent capacitor motor

B) WE’I’(EWF{W / Induction start capacitor run motor
C) Bifdhd Ul HieR / Shaded pole motor

D) WA SUT HIeR / Repulsion motor

108. faggd HaTe™ @t RUld & SR, URd & ol &7 & pa wifid emarg: /

According to the Ministry of Power report, the total installed capacity of the private
sector in India is:

A)50% & 31f¥b / More than 50% B) 25%
C)25% T HH / Less than 25% D)100%

109.DC TR H b ¥ UHR B ATSIST U1 TRAT 3R I YRT G61 &FT P 1T A= St
%? / Which type of winding is known for its simplicity and high-current carrying capacity
in DC machines?

A)a'qa'lf-:f%"'[/ Lap winding B)aa'a'lg%"T/Wave winding
C) Yobfad arfET / Concentric winding D) WRTfcRitet argfE/ Progressive winding
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110. 3R T U § fH-Tel IR0 HIex B &1 UHR &1 ex IR gt gl /

and are basically two types of rotor construction in a three-phase
induction motor.

A)3d, AU / Wave, lap

B) e, ¥¢ / Split, stray

¢) f&u &1, fepea et / Slip ring, squirrel cage
D) €dd, 9138 / Dumble, wound

111. TRHTY] Sl GG & 3fER HIH-HT IRATY] Hiafehar gidt 87 /

Which atomic reaction takes place inside a nuclear power plant?

A)WW / Nuclear fusion B) ]%WFF[ HSIH / Avalanche breakdown
C) TRHIY] fa%S / Nuclear fission D) YHd SiSI3 / Thermal breakdown

112. HTIAH calg- &1 SUANT fhq faggd Tua o fear Srar g2 /

Kaplan turbine is used in which power plant?
A)diaar Jperc / Thermal

B) UHIfaSTel AT IS SIgaiiaed / Hydroelectric
C) YaTta a1 foryHd / Geothermal

D) YD AT YfaeaR / Nuclear

113.9fdhe g T, Te U Fisd &1 I 71 8? /
In a circuit breaker, what is the purpose of a shunt trip coil?
A)Hﬁﬁﬁﬁﬁﬁﬂ%@@ﬁqm/ To trip the circuit breaker manually
B) WW%W B AT/ To delay the opening of the circuit breaker
C) 3ffaRdlecsl ¥ YR&M UG &A1 / To provide protection against overvoltage
D)ﬂﬁ)_c’awavlf?ﬁ CRIEDEIEE) @[E’qm / To remotely trip the circuit breaker

114,99 18 W IR B To, Gt 7 (g Frede] & Aorgdl I 39 e e fasar S
T1eT fob fAuRta ¢fadm a1 aRul & dheaes] & o P GAqH (HH I HH) g a- 1T
TGl ST / While wiring a panel board, all bare conductors shall be rigidly fixed in such a

manner that a minimum (at least) clearance of is to be maintained between
conductors of opposite polarity or phase.

A)0.5 94t / 0.5 cm B) 2.5 TH / 2.5 cm

Q134 /1cem D)1.5 TH /1.5 cm

115. 0% IATGH WIH S SR & T8 DI ST Sl o faggd Sort & yikafdd sxarg: /

A generating station which converts the heat energy of coal combustion into electrical
energy is:

A) STafdggd Qfdd T35 / Hydro-electric power plant
B) ATU fdggd A / Thermal power plant

C) TT¥ep 1T fdd TIF / Nuclear power plant

D) SR fagygd ¥d7 / Tidal power plant
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116.U1d f< T 8?2 / What is Pole Pitch?

A) TR Tlc P FJT/AId &1 TAT / Number of armature slots / Number of poles

B) Ul ! W&/ eR H Wi &I T&AT / Number of poles / Number of slots in the stator
C) fra Traer/argfE™ fira / Pitch factor / Winding pitch

D) ATEfE for/fira aex / Winding pitch / Pitch factor

117. 754 & SFTUR IR TN 7 S & dR & forg 7 S| /

According to NEC the standard colour for earth wire in domestic application is:

A) T / Black B) e / Yellow
Q)8 / Green D) =YelT / Blue

118. 98 RIM g1 THMIR U I IS d-1e 3ee-ex BT TR B [9ggd Afad &1
IdTeH fobar ST B, A HEarar 8: / The place where electric power is produced using
parallel connected three-phase alternators is called:

A) foSTelt T893 / Power Plant B) R T / Substation
¢) faarur / Distribution D) WIS / Feeder
119. FAgfoiad & @ oF-T1 Te e Taferd SadcfdHdd SUHRUN § Sl Hie! & favalfer

3R STV =411 82 / Which one of the following is a thermally operated
electromechanical device that protects motors from overheating and loading?

A) yid fiaRars el / Thermal overload relay
B) WY facia R / Time delay relay

C) fHg=01 SRIHTHR / Control transformer
D)ﬁflﬁl—cr %ﬂ/ Limit switches

120. 799 Udiieh &1 Uga HIfST| / Identify the symbol.

L

A
(E{/-;

A) UTaR TRIWHIER / Power Transformer

B) SfTgHCl / ICT
¢) Ria o E;qu"lﬁ? / Single Phase Transformer
D)?ﬂqm (HE%TD Efmqv"lﬁ?/ Three Winding Transformer

121. FyfiRad 7 Q o9-91 v RiSpy g &1 3eer0r 87 /

Which one of the following is an example of a passive component?

A)IRRET / Resistor B) STIIS / Diode
C) ¢ifSReR / Transistor D) 3{f&iieeR / Oscillator
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122. TS 3feeeR BT A AR W fasrelt Idre Yot & fhg UeHR & UrgH Jar J ST

BT 87 / The rotor of an alternator is typically connected to which type of prime mover
in a power generation system?

A)Ud- Tdd! / Wind turbine B) YU &1 $511 / Steam engine
C) SISTd 51 / Diesel engine D)T g4t / All of these

123. faaRur yurTel B BieR &1 ST fhd e H & fore frar S 8: /

Feeder is used in distribution system to connect:

A) faggd TR & fadRor gRawER d@ /

Power transformer to distribution transformer
B) ﬁ?{ﬂﬂ Q'qu"lﬁ? Call m ¢l d / Power transformer to transmission line
(@) GG E;I?Flib"lﬁT P UM b / Distribution transformer to consumer

D) JeReYM &I fdaap! db / Substation to distributers

124, TOAISR HT e =4 F IUANT farqas forg fasan ST 82 / SCR are mainly used for:

A) TIETHRR / Amplifier

B) B{\I@ﬂaﬂ/ Oscillator

C) ftheex / Filter

D) Hiex| &1 TIfd TR f8701 / Speed control of motors

125. FEfRad & § -3 &1 31d fauid yai & &g & &9 B gl 67 /
Which one of the following is the distance between the centre of two adjacent
opposite poles?

A) T H&dil 1§18 / Leads of a coil
B) U el bl [ASHY U&l / Inactive side of a coil
C) O fid / Pole pitch

D) pSd/PSdl BT THg / Coil group

126. FMH: faavor arg- &:/ The distribution line in general is:

A< R YU / Three wire system B) IR dR WU / Four wire system
C) & AR YUITc! / Two wire system D) U AR WU / Five wire system

127.1E Fo0 & SFUR R I541 & o IU-Tidhe TehTeT a1 & e S/ ig 4R (@) & /

As per the IE rule the permissible load for lighting sub-circuit for domestic purposes is:

A) 500 dIc / 500 watt B) 1000 dIc / 1000 watt
C) 800 dIc / 800 watt D) 1500 dIc / 1500 watt

128. 75T UPR &1 3IRT 4701 FH&f Ted! P Hifdes A33c o1 =2 Ufafifid Uem srdrg? /

Which type of diagram provides a visual representation of the physical layout of control
panel components?

A)tﬁﬂ?ﬂ'c;/ Flowchart B) DI EICP \?Aﬁ"{q’/ Schematic diagram
C) i 3R / Block diagram D) IfA 3R / Pictorial diagram
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129.U% 4 UId, 1200 RUITH 3fecrcx FEfRdd &t g IR EMF 3T BT /

A 4 pole, 1200 rpm alternator will generate EMF at the frequency of:

A) 50 BEST / 50 Hz B) 40 ST / 40 Hz
C) 60 §SHT / 60 Hz D)30 &5/ 30 Hz

130.8HR 32 B 70% fagyd Hiv Bt 3myfd fg faegd 9o gr1 &1 ot 82 /
70% of our country's power demand is supplied by which power plant?
A) STafdgyd Qfdd T35 / Hydro-electric power plant
B) dIU WW / Thermal power plant
Q) WW’?W/ Nuclear power plant
D)ﬁ? Soll ¥4 / Solar power plant

13171 3MUP A Dis LT Afad 31T & S fowieht &1 et o @1 7 3R 3y fawielt
BT IId & Tl PR Tobd dl 3D T BT AMRT? /

What should you do if you come across a person who is experiencing an electric
shock, and you cannot turn off the power source?

A) 30 =T BT T fad &1 Td ¥ R o ST BT TR 631 A1fg ¥ /
Attempt to move the person away from the source with your bare hands

B) fad &I Wid q R Y 1 Wi & oy dhet a1 TR-UATed 1 a¥d BT SUART
A1 A18UE / Use a wooden or non-conductive object to push or pull the person
away from the source

O) TR TR & =781 &1 13T 3TR I &8 1 BIS &A1 A1 /

Ignore the situation and leave the area
D) SAfeki 1 38T B o folT I W U STef1 =11gT /

Pour water on the person to cool them down

132.%eid Odt SRacl & &p P S A1 a1 B & o fhd SUHRUT &1 IUANT faat Sira

87 / Which tool is used to tighten or loosen screws in a control panel assembly?

A)dIeeHIeR / Voltmeter B) fU@ / Pliers
C)ﬁﬂW/ Screwdriver D)ﬂ?cﬂtﬂﬂ / Multimeter

133. 3o AlBHHTIC/CTIHIIT (LOTO) fchaT BT Ie=d T 87 /
What is the purpose of an Electrical Lockout/Tagout (LOTO) procedure?

A)W‘TW&I’UT%Q / To save energy

B) U8 JM¥d A & fow fob IuaHrur HRIardgdes Ienferd g /
To ensure equipment operates efficiently

C) faggd Idred dgH & fo1T / To increase electrical output

D)IT/RAG P SR YiHh] Bl WD Holl Fdl J ST /

To protect workers from hazardous energy sources during maintenance
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134. T ol S AR & gaH Rrgid R &1 w81/

Three-phase induction motor works on the same principle as

A) EA”%IE? / transistor B) Q'qu"lﬁ'{/ transformer

C) TeTRA (PURYeR) / capacitor D) UGG / illumination

135. w@a@ﬁ%ﬁw%% / is an electromechanical switch.
A) ¢ d Raa / Two way switch B) f¥a & / Relay switch
C) T R / Toggle switch D) o f%&4 / Piano switch

136. 19 UBR Pt T TRUT URUT HIe | NI Jicbe did P aad T SUANT fodT Sird1 872 /

A short, circuited copper ring is used in which type of single-phase induction motor?

A)Elﬁlib'ﬁfUT e / Repulsion motor B) %@ﬁ?ﬁg e / Hysteresis motor
C)qﬁﬁﬁﬂ e / Universal motor D) Bifdd gd e / Shaded pole motor

137.’3@3@?[ HreY aﬁsﬂwﬁ ?-ﬁ\_rﬂ:ITGﬂ?IT%: / Universal motor is also known as:

A) TH Ufdessur /e / AC repulsion motor

B) Tt RitTat Bol fSHRR™Iat Alex / AC single phase differential motor
C) T RivTa et Tfe diex / AC single phase shunt motor

D) Wit RiTTat thet WISt Alex / AC single phase series motor

138. o1 YfFewrraR & fAwior & fore fpam Srils &t Srawusdr gidt 82 /

How many diodes are required to construct a bridge rectifier?

A)4 B)3
Q2 D)5

139. B-g3d &Y ¥ Yenferd Tifie Rad, S g &9 ¥ ${ip-drs fRufa & faggd wifad gomeit
& U BT I 31eHT BRI B, HeAra gl /

A manually operated mechanical switch, which separates a part of an electrical power
system normally at off-load condition is called

A)CIgHY / timer B) Tudhandf (EFT%EE?) / contactor
C) TH1 g / limit switch D) 3fIgIdieR / isolator

140.39 AT B b JRETHD IUHUN FHT A1 Fa1gC Sl faggd fdhe HI TS Ffehe 3R
aRArs @IE?HFIT%I / Name the electromechanical protective device that protects an
electrical circuit from short circuits and overload.
A) SRETET / RCCB B) SIS / ELCB
C)Q'ﬁl?ﬁ_cﬁ/ MCB D)H@f@?/ Main switch
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141.3dfdchd SR 3R TR & Iy B HRd THY 5T JREM Fragrt &1 urer faar ST

T1f8T? / Which safety precaution should be followed when working with electrical
assembly and wiring?

A) S8R ATAGHAl & [o18 T BT o B B /

Work with wet hands for better conductivity
B) aﬁﬂ@fﬁﬂ%ﬁm IO SUBRUN BT SUTNT HY / Use damaged tools for faster work
C) Tfthe R HTH TR J UG AR I -TASHgS Y /

Always de-energize circuits before working on them

D)W%ﬁlﬁ?ﬁﬁm%ﬁ / Wear loose clothing for comfort
142. Frofafed & § -0 diex S=dd RS Samgef gwfz /

Which one of the following motors will give the highest starting torque?

A) PR T TERME I/ Capacitor start induction run
B) YWY W< TSI I / Resistance start inductance run
(@) BHifed tﬁﬁ/ Shaded pole

D)W qr ﬂ?ﬁ%_c{ﬂ?[/ Universal

143, TRUY fagIoTp (@fhe SHR) Th IUHRUI idT & Sl 9 H Ffhe &Y g (@Ade) 3R disA
(STERT) H e Bie &
(i) fagga 4R (@re) & wmr= fRufa
(i) faggd IR @) 3t sramar R
e 8 3 PH-a1 Rieea wdt 82/
A circuit breaker is a device capable of making and breaking a circuit under:
(i) Normal conditions of load
(ii) Abnormal conditions of load.
Which of the following is CORRECT?

A) (i) T &, TR (ii) 3R & / (i) Is true, but (i) Is false
B) (i) 3T §, TR (ii) I © / (i) Is false, but (ii) Is true
Q) (i) 3R (i) ST 39T & / Both (i) and (ii) Are false

D) (i) 3R (ii) TFI I & / Both (i) and (ii) Are true

144. 39 TN YHR BT 9H Ja3C off DRITH Fiicyd & qAffd TS Had Bl SUANT ol

81/ Name the wiring type that uses insulated cables supported in porcelain cleats.

A) faeie arafTT / Cleat wiring B) Utatat S{TERTT HIUT / PVC casing capping
C) Yidiadt Arett araf T / PVC conduit wiring D)éﬁamﬁﬂ/ Batten wiring

145.7& T 200-aTe 1 oY 3R 100-dic &1 fa Juft & Sis g Sme, @ HH e d AL
aTM? / If a 200-watt lamp and a 100-watt lamp are connected in series, which will glow
bright?

A) G FHM ¥ 9 AT ST/ Both glow equally

B) Gl &I A= HH BT / Both glow dim

C) 100 dIc aTelT Aot AR &1 / 100 watt will glow bright
D) 200 dic aTal ool AT & / 200 watt will glow bright
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146. 7 fear o forg e Saaei-ids ST HI1 872 /

The below symbol is of which electronic device?

COLLECTOR
S -
TR % N
BASE |
~ e/
ECSEE / EMITTER
A)n-p-n QT%IET / n-p-n transistor B) p-n-p QT%IET / p-n-p transistor

C)N I9d AW / N channel MOSFET D) P 9 HIGWe / P channel MOSFET

147,759 UBR &1 Fihe bR U I IR (HTY) & & T8 S S 8 3R
AR Fd-dlecol SIFANT H SUANT foban ST 82 /
Which type of circuit breaker is known for its high interrupting capacity and is often
used in high-voltage applications?

A) TR Ifdhe g (@HRTE) / Miniature Circuit Breaker (MCB)
B) Wﬂﬁv_c’aﬁ / Air Circuit Breaker

(@) G{Wﬂﬁﬁaﬁ/ Oil Circuit Breaker

D)WWW/ Thermal Circuit Breaker

148. faorelt @ wom W Fafafed # § oF-91 Suged ufie SUaR HeH 87 /

Which of the following is an appropriate first aid step for a minor electrical burn?

A) STd TR T8 % T / Apply ice directly to the burn
B) STel ! RTMURTRd, - SRFTH Tb /
Cover the burn with a sterile, non-stick dressing
Ol N BHhId §4 35 His ¢ / Pop any blisters that form
D) &4 &I HH HA & [ oIl & 9IR 4 TS / Rub the burn vigorously to reduce pain

149. YRd ¥ fohd U®R BT AC EA‘IFI W YT ST 82 / In India which type of AC
transmission is adopted?

A) T B IR dR YUl / Three phase four wire system

B) <9 Bl <19 AR HUMCAT / Three phase three wire system
C) <9 Tl Ui AR WUE! / Three phase five wire system
D)Uhd Bl diiF IR YUTTett / Single phase three wire system

Page 27 of 33




150. fagyd @A TR THY, IUGad dlecol-3¢S o 3R IUHUN BT SUTNT BT F1
ﬂ%ﬁ'{ﬂf%? / When performing electrical maintenance, why is it important to use the
appropriate voltage-rated tools and equipment?

A)sﬂﬁmaﬁﬁ‘@f@?ﬂ%/ It makes the work faster
B)%Ww&ﬂﬁw%/ It is a legal requirement
C) g faoTelt & Sredh 1 IUHRYT &fd & SNRIH B HH FRaAT g /

It reduces the risk of electrical shock or equipment damage
D) T8 31k ARTA UHTAT § / It is more cost-effective
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[ Do not open this question booklet until asked to do so. ]

INSTRUCTIONS TO CANDIDATE

1. Fill up the necessary information in the space provided on the cover of Question Booklet and

the Answer Sheet before commencement of the test.

2. The duration of the test is 2 Hour. There are 150 questions.

3. You will not be allowed to leave the examination hall till the exam gets completed.
This booklet contains 32 Pages. Please check for completeness of the Question Booklet
immediately after opening.

5. No spare Question Booklet or Answer Sheet will be provided. Do not make mistakes.
Replacement will NOT be provided under any circumstances.

6. Each question has four answer options marked (A), (B), (C) and (D). Answers are to be marked
on the Answer Sheet, which is provided separately.

7. Choose the most appropriate answer option and darken the circle completely, corresponding
to (A), (B), (C) or (D) against the relevant question number.

8. Use only Blue/Black Ball Point Pen to darken the circle for answering.

9. Please do not darken more than one circle against any question, as scanner will read such
marking as wrong answer.

10. Once an oval is darkened as answer to the question, it is final. Answers option once darkened
cannot be changed.

11. Each question carries one mark. There is NO Negative Marking.

12. Rough work, if any, is to be done on the Question Booklet only. No separate sheet will be
provided/used for rough work.

13. Calculator, Mobile, etc., are not permitted inside the examination hall.

14. Candidates seeking, receiving and/or giving assistance during the test will be disqualified.

15. Do not seek clarification on any item in the Question Booklet from the test invigilator. Use
your best judgment.

THIS QUESTION BOOKLET AND OMR ANSWER SHEET ARE TO BE RETURNED ON COMPLETION OF THE TEST.

Please fill in the following details using ball point pen.

Roll No.

Name Signature
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(MEL)

Attendant Gr-I (Electrical) - Version A

Question Answer Question Answer Question Answer
No keys No keys No keys
1 D 51 D 101 A
2 A 52 C 102 B
3 D 53 B 103 B
4 B 54 C 104 B
5 A 55 A 105 C
6 B 56 B 106 B
7 D 57 D 107 A
8 C 58 C 108 A
9 D 59 C 109 A
10 D 60 D 110 C
11 D 61 B 111 C
12 D 62 B 112 B
13 C 63 A 113 D
14 C 64 A 114 B
15 D 65 A 115 B
16 D 66 B 116 A
17 B 67 A 117 C
18 A 68 D 118 A
19 B 69 A 119 A
20 D 70 D 120 D
21 B 71 D 121 A
22 A 72 A 122 D
23 B 73 D 123 D
24 D 74 A 124 D
25 A 75 D 125 C
26 A 76 D 126 B
27 B 77 A 127 C
28 A 78 C 128 D
29 B 79 C 129 B
30 D 80 A 130 B
31 C 81 A 131 B
32 C 82 C 132 C
33 B 83 C 133 D
34 D 84 C 134 B
35 C 85 A 135 B
36 A 86 C 136 D
37 B 87 A 137 D
38 B 88 C 138 A
39 C 89 B 139 D
40 C 90 D 140 C
41 D 91 C 141 C
42 B 92 A 142 A
43 C 93 B 143 D
44 A 94 B 144 A
45 B 95 C 145 C
46 D 96 D 146 A
47 C 97 A 147 C
48 A 98 A 148 B
49 C 99 A 149 B
50 D 100 D 150 C
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